Algebra I 


Problem Set #5

 Name:________________________

     2nd Semester    

                            
    Period:__________

1-6: Multiply and simplify, showing all your work carefully.
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7-8: Factor each trinomial completely:
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9-14: Simplify each expression. Use only positive exponents in your answers.
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15-16: Find the greatest common factor.
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17-18: Factor out the GCF for each problem.  Check your work by multiplying.
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19-20: Factor each of the following polynomials.  
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21-22:  Solve for x.  
21.    
[image: image21.wmf])

18

5

(

3

1

8

)

1

4

(

3

-

-

=

-

+

-

x

x

x




22.    
[image: image22.wmf](

)

x

x

x

2

3

2

3

=

-

-


23:  Solve the compound inequality.  Graph the solutions on the number line AND state 3 numbers in the solution set.  Show all your work!
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3 numbers in the solution set:
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